

# A CLOSED FORMULA FOR THE GENERATING FUNCTION OF $p$ -BERNOULLI NUMBERS: AN ELEMENTARY PROOF

HELMUT PRODINGER AND SARAH J. SELKIRK

ABSTRACT. For a two parameter family of Bernoulli numbers  $B_{n,p}$  the exponential generating function is derived by elementary methods.

## 1. INTRODUCTION

The following recursion for a two parameter family of Bernoulli numbers is given in [3],

$$B_{n+1,p} = pB_{n,p} - \frac{(p+1)^2}{p+2} B_{n,p+1} \quad \text{for } n, p \geq 0. \quad (1)$$

In terms of exponential generating functions

$$f_p(t) := \sum_{n \geq 0} B_{n,p} \frac{t^n}{n!},$$

recursion (1) translates into

$$f'_p(t) = pf_p(t) - \frac{(p+1)^2}{p+2} f_{p+1}(t).$$

The closed formula that follows is the main result of [2].

**Theorem 1.** *For  $p \geq 0$*

$$f_p(t) = \sum_{n=0}^{\infty} B_{n,p} \frac{t^n}{n!} = \frac{(p+1)(t - H_p)e^{pt}}{(e^t - 1)^{p+1}} + (p+1) \sum_{k=1}^p \binom{p}{k} \frac{H_k}{(e^t - 1)^{k+1}}, \quad (2)$$

where  $H_n$  is the harmonic numbers defined in [1]:

$$H_n = \sum_{j=1}^n \frac{1}{j}.$$

We provide a shorter proof of this theorem using elementary methods.

---

2010 *Mathematics Subject Classification.* 11B68, 11B83.

*Key words and phrases.* Bernoulli numbers, generating functions, harmonic numbers, elementary proof.

The financial assistance of the National Research Foundation (NRF) towards this research is hereby acknowledged. Opinions expressed and conclusions arrived at, are those of the authors and are not necessarily to be attributed to the NRF.

## 2. PROOF

For  $p = 0$  we have

$$\sum_{n=0}^{\infty} B_{n,0} \frac{t^n}{n!} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!} = \frac{t}{e^t - 1}$$

and

$$\frac{(0+1)(t-H_0)e^0}{(e^t-1)^{0+1}} + (0+1) \sum_{k=1}^0 \binom{0}{k} \frac{H_k}{(e^t-1)^{k+1}} = \frac{t}{e^t-1}.$$

Therefore Equation (2) holds for  $p = 0$ .

Now, assume that it holds for some  $p$ . Then

$$f_p(t) = \frac{(p+1)(t-H_p)e^{pt}}{(e^t-1)^{p+1}} + (p+1) \sum_{k=1}^p \binom{p}{k} \frac{H_k}{(e^t-1)^{k+1}}.$$

It follows that

$$\begin{aligned} pf_p(t) - f_p'(t) &= p(p+1) \frac{(t-H_p)e^{pt}}{(e^t-1)^{p+1}} + p(p+1) \sum_{k=1}^p \binom{p}{k} \frac{H_k}{(e^t-1)^{k+1}} \\ &\quad - (p+1) \frac{e^{pt}}{(e^t-1)^{p+1}} - p(p+1) \frac{(t-H_p)e^{pt}}{(e^t-1)^{p+1}} + (p+1)^2 \frac{(t-H_p)e^{(p+1)t}}{(e^t-1)^{p+2}} \\ &\quad + (p+1) \sum_{k=1}^p \binom{p}{k} (k+1) \frac{H_k e^t}{(e^t-1)^{k+2}} \\ &= p(p+1) \sum_{k=1}^p \binom{p}{k} \frac{H_k}{(e^t-1)^{k+1}} - (p+1) \frac{e^{pt}}{(e^t-1)^{p+1}} + (p+1)^2 \frac{(t-H_p)e^{(p+1)t}}{(e^t-1)^{p+2}} \\ &\quad + (p+1) \sum_{k=1}^p \binom{p}{k} (k+1) \frac{H_k}{(e^t-1)^{k+1}} + (p+1) \sum_{k=1}^p \binom{p}{k} (k+1) \frac{H_k}{(e^t-1)^{k+2}} \\ &= -(p+1) \frac{e^{pt}}{(e^t-1)^{p+1}} + (p+1)^2 \frac{(t-H_p)e^{(p+1)t}}{(e^t-1)^{p+2}} + p(p+1) \sum_{k=1}^p \binom{p}{k} \frac{H_k}{(e^t-1)^{k+1}} \\ &\quad + (p+1) \sum_{k=1}^p \binom{p}{k} (k+1) \frac{H_k}{(e^t-1)^{k+1}} + (p+1) \sum_{k=1}^{p+1} \binom{p}{k-1} k \frac{H_k - \frac{1}{k}}{(e^t-1)^{k+1}} \\ &= -(p+1) \frac{e^{pt}}{(e^t-1)^{p+1}} + (p+1)^2 \frac{(t-H_p)e^{(p+1)t}}{(e^t-1)^{p+2}} \\ &\quad + (p+1) \sum_{k=1}^p \frac{H_k}{(e^t-1)^{k+1}} \left[ p \binom{p}{k} + \binom{p}{k} (k+1) + \binom{p}{k-1} k \right] \end{aligned}$$

$$\begin{aligned}
 & - (p+1) \sum_{k=1}^p \binom{p}{k-1} \frac{1}{(e^t-1)^{k+1}} + (p+1)^2 \frac{H_p}{(e^t-1)^{p+2}} \\
 = & - \frac{(p+1)e^{pt}}{(e^t-1)^{p+1}} + (p+1)^2 \frac{(t-H_{p+1})e^{(p+1)t}}{(e^t-1)^{p+2}} + \frac{(p+1)e^{(p+1)t}}{(e^t-1)^{p+2}} \\
 & + (p+1)^2 \sum_{k=1}^{p+1} \frac{H_k}{(e^t-1)^{k+1}} \binom{p+1}{k} - (p+1)^2 \frac{H_{p+1}}{(e^t-1)^{p+2}} \\
 & - \frac{(p+1)e^{pt}}{(e^t-1)^{p+2}} + (p+1)^2 \frac{H_{p+1}}{(e^t-1)^{p+2}} \\
 = & - \frac{(p+1)e^{pt}}{(e^t-1)^{p+1}} + \frac{(p+1)e^{(p+1)t}}{(e^t-1)^{p+2}} - \frac{(p+1)e^{pt}}{(e^t-1)^{p+2}} \\
 & + (p+1)^2 \sum_{k=1}^{p+1} \frac{H_k}{(e^t-1)^{k+1}} \binom{p+1}{k} + (p+1)^2 \frac{(t-H_{p+1})e^{(p+1)t}}{(e^t-1)^{p+2}} \\
 = & (p+1)^2 \sum_{k=1}^{p+1} \frac{H_k}{(e^t-1)^{k+1}} \binom{p+1}{k} + (p+1)^2 \frac{(t-H_{p+1})e^{(p+1)t}}{(e^t-1)^{p+2}} \\
 = & \frac{(p+1)^2}{p+2} f_{p+1}(t).
 \end{aligned}$$

Therefore Equation (2) holds for all  $p \geq 0$  and the elementary proof of Theorem 1 is complete.

#### REFERENCES

- [1] Ronald L. Graham, Donald E. Knuth, and Oren Patashnik. *Concrete Mathematics: A Foundation for Computer Science*. Addison-Wesley Longman Publishing Co., Inc., Boston, MA, USA, 2nd edition, 1994.
- [2] Levent Kargin and Mourad Rahmani. A closed formula for the generating function of  $p$ -Bernoulli numbers. *Quaestiones Mathematicae*, xxx:1–9, 2018.
- [3] Mourad Rahmani. On  $p$ -Bernoulli numbers and polynomials. *Journal of Number Theory*, 157:350–366, 2015.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF STELLENBOSCH 7602, STELLENBOSCH, SOUTH AFRICA

*E-mail address:* hproding@sun.ac.za

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF STELLENBOSCH 7602, STELLENBOSCH, SOUTH AFRICA

*E-mail address:* sjselkirk@sun.ac.za